Multiplicar Dos Polinomios (J)
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Simplifique cada expresion.

(=6p° +p* = 5p°)(9p + 8)

C8t(2t° + Tt — 3t°)

C(r? 4 3r + 2)(6r* + 3r° + 3r?)

(d = 3d* — 2d%) (—2d® — 8% + 7d)

- 9a(2a® — 8a — 1)

MatesLibres.com




Multiplicar Dos Polinomios (J) Respuestas

w

N

Ot

Simplifique cada expresion.

(=6p° 4+ p* = 5p°)(9p + 8)
= —54p° — 39p° — 37pt — 40p°

- 8t(2t° + Tt — 3t%)
= 16t° + 56¢° — 24¢*

(4 3r +2)(6r + 3r° + 3r%)
= 6r0 + 21r° + 241" + 15r° + 617

(d = 3d* — 2d%) (—2d® — 8d* + 7d)
— —2d° — 2d" + 35d° — 5d° — 14d*

- 9a(20® — 8a — 1)
= 18a® — 72a* — 9a
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